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EX: SsETYA
HaM: g2 I L AHAIHE S22 (232 /HS
Sl YW AIF SN (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 5,315,600
ST HIE A2 8,815,600 2,742,200 6,073,400
J| 3,500,000
= 5,315,600
SEL)|E2 SKEXILALY 1,945,600 2,379,200 A 433,600
202 o4 | 5,600 5,200 400
01 2Ll 5,600 5,200 400
OsSaEIT)IER XL AIY 23 2 Y| 5,600
401 AlEHIZL 2 0HY| 1,940,000 2,374,000 A 434,000
01 Al&EH| 1,940,000 2,374,000 A 434,000
OFAEH L HMEELEX 29, 2122 Z2A 1,940,000
s m)ga A2 100,000 150,000 A 50,000
201 et | 94,400 94,000 400
02 232 4| 94,400 94,000 400
02322 ¥ =2 S 94,400
202 04| 5,600 6,000 A 400
01 2L HI 5,600 6,000 A 400
osgm)Ea Ae 28 oyl 5,600
SEL)ER AIRZ22 E= 770,000 0 770,000
401 AlEHIZL 2 0HY| 770,000 0 770,000
01 Al&H| 750,000 0 750,000
O=SEHIIEZ AIRB2t &5 ZSAtH] 750,000
02 2teld| 20,000 0 20,000
OsE TG AIRZ22F &= Z A2 2l 20,000
S B A T I 400,000 0 400,000
308 XAHXIEHMSOIA 400,000 0 400,000
01 AIXSHMENMNEX= 400,000 0 400,000
O=sgm He A T =X X 400,000
ST SAHS N (21D) 5,600,000 0 5,600,000
J| 3,500,000
= 2,100,000
308 XAHXIGH SO0l & 5,600,000 0 5,600,000
J| 3,500,000
= 2,100,000
01 IXHHNIMNEXS 5,600,000 0 5,600,000
02020 =5 BHOHH| AZX2HT X & 5,600,000
Dl 3,500,000
= 2,100,000
HMNSAAY(SHTULAE W) (IIEH/IIE 46,971 50,252 N 3,281
Jl2dHl 46,971 50,252 A 3,281




AN ST
H: HH2FAH (S L E W) (IIEH/IIE)
¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
EM2E Jl=2Z 46,971 50,252 A 3,281
201 £B-2d| 31,431 32,852 A1,421
01 At 22l 31,431 32,612 21,181
OAtS 22l i 31,431
202 o4dl 11,340 13,200 A 1,860
01 = LH o4 1l 11,340 13,200 A 1,860
O=3UWoHl 11,340
203 YR =&t 4,200 4,200 0
04 EA2IYRFLH| 4,200 4,200 0
©2521 0l ot 350,000& 128 4,200




